> A
N = 0l & At & Ml A
015 £ 138 YA SAHLD -~ NRF2D
SN ASCOR D
M mMAE YBCA P
Sl #J|E2 ZEFY 32 2 58X 22 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
A5 CIXol Dt 4,704,419 3,335,012 1,369,407
o] 202,000 0 202,000
< 298,000 54,000 244,000
Al 4,204,419 3,281,012 923,407
=M YECA TH 4,648,338 3,284,498 1,363,840
o] 202,000 0 202,000
< 298,000 54,000 244,000
Al 4,148,338 3,230,498 917,840
4J|ES 2SFY 23 ¥ 58% 22 106,800 6,800 100,000
a4J|Ee BSFYy 22 L 28X 22 106,800 6,800 100,000
207 RN 100,000 0 100,000
NEEEET 100,000 0 100,000
OBZAl =& 2222 JI=2Ka 4+
100,000, 0002 100,000 0 100,000
NEIEOE AEE 2B X4 1,272,700 865,860 406,840
| 202,000 0 202,000
< 54,000 54,000 0
Al 1,016,700 811,860 204,840
NS WG 2HBDS U 139,360 39,360 100,000
301 YurE a3 100,000 0 100,000
IBEENE 100,000 0 100,000
OEYZDE £HX B4S 100,000,008 100,000 0 100,000
AEHE FH AL 403,400 201,400 202,000
o] 202,000 0 202,000
Al 201,400 201,400 0
401 N EHIL 2 THYI 403,400 201,400 202,000
| 202,000 0 202,000
Al 201,400 201,400 0
01 A&l 402,000 200,000 202,000
OBt A Hel THMY(LYH)
402,000, 0002 402,000 200,000 202,000
o] 202,000 0 202,000
Al 200,000 200,000 0
TTOTO AY F7 387,000 352,000 35,000
401 N EHIL 2 THYI 387,000 352,000 35,000
01 A&l 387,000 352,000 35,000
OSYS HHOIE H502l)l A
15,000, 0002 15,000 0 15,000
OEHAEE Hata210l AL 20,000,000% 20,000 0 20,000
SAUNAID L HBHAE ZH 69,840 0 69,840
307 2I2H0I 69,840 0 69,840
05 2129 er3 69,840 0 69,840




2N
X ZH -
L= B

el

=
e Jz i

mry o

Xl ot
= HECA P
08 AES 292D =4

SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" Hl DS 2
O8 =% AHAIL Cl 21 FH
120,000& = 19200 A& 23,040 0 23,040
OHENAE Cl 21 FH|
100,000& * 6891 A 6,800 0 6,800
ogggat €l 21 &l
100,000& = 10090 & 10,000 0 10,000
OHNA RANE== 300,000& = 1000H & 30,000 0 30,000
AN&Es8 otd el 23t 2,424,000 1,567,000 857,000
< 244,000 0 244,000
Al 2,180,000 1,567,000 613,000
LEIZSFY NG =2 1,451,800 1,101,800 350,000
402 212t X201 & 1,450,800 1,100,800 350,000
01 It =2 At B X 1,450,800 1,100,800 350,000
OL-==3SF8 N3AAME 1,450,800 1,100,800 350,000
Ok=3sF8 XA 1,350,000, 000& 1,350,000 1,000,000 350,000
SSTY A2 FUSIAAL(XA) 676,000 413,000 263,000
402 RI2EX=20| A 676,000 413,000 263,000
01 It AL E X 676,000 413,000 263,000
O8Ys 4LOtIIE s FHISA
20,000, 000& 20,000 0 20,000
O3&ds 2H8HXOIIIE E XA X
15,000, 000& 15,000 0 15,000
OZAMsS HEOLE S& WHIA
20,000, 000& 20,000 0 20,000
O8Ys FI3HLA S& WHSA
20,000, 000& 20,000 0 20,000
O8Ys SU2XOILE B2 WHSA
18,000,000 18,000 0 18,000
O4dsts =34 23J17 &X
10,000, 000& 10,000 0 10,000
OMels FSAUMZ2X} 0{&l0l s0lAlIE EHI
10,000, 000& 10,000 0 10,000
OM&l s &A2XOIME 2SI+ &X
10,000,000& 10,000 0 10,000
OMAl S & =33HX FIHE Otaz2 ZH
10,000, 000& 10,000 0 10,000
OZU L&0HILE CCTV, LEDS w Al
20,000,000& 20,000 0 20,000
OMLlES SS0HIE 23J17 4X
10,000,000& 10,000 0 10,000
O=2ds 4SIXOIIE JH=2S WA
20,000, 000& 20,000 0 20,000
ONEE MFUIONE 25|72 HX
15,000, 000& 15,000 0 15,000
OHlots SEIXOILIE 22 H2AZ S A
20,000, 000& 20,000 0 20,000




AN AFCIA 0t
HE: =MAE YECA T
S AIEE & e| 238t (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OREs RZOEMECHIIE MSAIE Bt H
=[F=PN; 2,000,000& 2,000 0 2,000
OZs "aotE FNEX & FHIH
15,000, 000& 15,000 0 15,000
O=2& ZXNNSEUOIIE 2871+ &X
10,000, 000& 10,000 0 10,000
O8% JtE0IS5HXO0IIE S-EAIEZ WH
5,000,000 5,000 0 5,000
O2E FUAIORXOIME =0IE B
13,000, 000& 13,000 0 13,000
LEEY BSTYH ANEES MHE(BXE) 244,000 0 244,000
=) 244,000 0 244,000
402 212t Xt=01& 244,000 0 244,000
& 244,000 0 244,000
01 2 Tt=AEE X 244,000 0 244,000
OJtZIOFS5H A 2 SEOHHE 2 0I=0I8 8BS
S A 20,000,000& 20,000 0 20,000
=) 20,000 0 20,000
OSMESUOIIE F2FHIALY 25,000,000 25,000 0 25,000
< 25,000 0 25,000
O EXOISIHA RFSOHLE S WMAL
20,000,000 20,000 0 20,000
< 20,000 0 20,000
ORE=36HXNOIE MHEANXN A 2
g 30,000,000 30,000 30,000
< 30,000 30,000
O2ds 40tIE O 0l=0IE JIsE2ZA
& 32,000,000 32,000 32,000
< 32,000 32,000
O=Y2s BUOLIE ALY JIsEZAY
22,000,000 22,000 22,000
< 22,000 22,000
O=g81s F30E X ¥ BIX &EXAY
20,000,000 20,000 20,000
< 20,000 20,000
ORE=S 2S0HIE MSAE XA
10,000,000& 10,000 10,000
< 10,000 10,000
O#+==2= e 0IS2XO0IIIE & FHIAMY
45,000,000 45,000 45,000
< 45,000 45,000
OEY e-HEINAOIIE N&=XE X S
=AM 20,000,000& 20,000 20,000
< 20,000 20,000
MRS (ASCIRAL) 5,567 0 5,567
EdXE 5,567 0 5,567
gret= JIEt 5,567 0 5,567




2AM: ASCIX
HFH: WRES(ASCIA D
c©e: BEXE (chel & 9l)
SAH M -H2A () - MEAY - BES Ol A o4 Iy Hws2
802 Bret=J| EF 5,567 0 5,567
02 Al - SHIEXSEE= 5,567 0 5,567
ORHN 2T HHAIY XK B =
5,566,800& 5,567 0 5,567




